Worksheet on Corus
The following statements are based on the TT100 Case Study about Corus.  Some of the statements are true, others false.  Using the TT100 case study, see if your learners can decide which:-

1. Corus is the UK’s biggest steel manufacturer (T)

2. ‘Restoring Success’ is about selling more steel overseas. (F)

3. More than a billion people in India and China have joined the global trading system (T)

4. The demand for metal has stayed the same (F)

5. Steel is at the heart of our economy (T)

6. Steel is partly recyclable (F)

7. Sustainable development avoids compromising future generations (T)

8. Sustainable development means respecting the environment (T)

9. We reduce our ‘carbon footprint’ by reducing waste (T)

10. Business like Corus must behave in a sustainable way (T)

11. Corus allows its managers to make their own decisions about environmental management (F)

12. Corus continually seeks new ways of reducing waste (T)

13. Recycling steel causes environmental harm (F)

14. 87% of Drinks Cans were recycled in 2005 (F)

15. 77% of aerosol cans were recycled in 2005 (F)

16. The hard work in increasing consumer awareness about steel packaging recycling has been done (F)

17. Corus seeks to balance the needs of its stakeholders (T)

18. Stakeholders in Corus are affected in different ways by the recycling policy (T)

19. The ‘steel cycle’ shows that four main groups are involved in recycling steel (T)

20. Recycling has several benefits (T)

21. There is a fine balance involved in deciding whether recycling is worth it (F)

22. Key Performance Indicators (KPI’s) give Corus targets to work to (T)

23. One of Corus KPI’s is to increase recycling by 2010 (T)

